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4. (a)
(b)
(c)
(d)
(e)
5 (@
(b)
(c)
(d)
6. (a
(b)
(c)
(d)
(e)
7. (@
(b)
(c)
8. (a)
(b)
(c)
9. (a)
(b)
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11.
I 4
10.
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12.
13.

MgCl,
CaO
Cu(NO)),
AlCl,
CaCoO,

N~ . ~
on(eRIEH, AHlerdlsiH

gIggoH, SHH

Tifead, BIESIeM, HIad qel ST

I, Wewt den Sieds
26 g

256 g

124 g

36.5¢g

63 g

14 g

108 g

1260 g

0.375 9
1.11 9

0.5 A

32¢g
9.0¢g

3.76 x 102> 37
6.022 x 10%° A

80.006

X =90% , 5 % =10%

TSRl = 1, I &1 A1 ST 2
TAM &A1 X =12, Y=14, I THefeF 2
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14.
15.
16.
17.
18.

@ F (b) F © T d F
@ v (b) x @ x @ x
(@) x (b) x © v @ x
(@ x (b) v (© x @ x
(@) x (b) x (@ x d v

T 8

1. (a) T =2200 m; fo*ATH = 200 m.

2. (1) 3Ed el = 3Ed oM=2.00ms’
(b) T =M= 1.90 m s ; 3Hd 3 =0.952 m s

3. 39d Wl =24kmh'
TT 1 T 3 =96 m

7. dM=20ms ;T =25

10. I =3.07kms

ST 9

4. c

5. 14000 N

6. -4N

7. (a) 35000 N
(b) 1.994 m s?
(c) 15556 N

8. 2550 N E! & 7fd o fouda feem H)

9. d

10. 200N

11. Oms!

13. 3kgms!

14. 2.25m; 50 N

15. 10kgms?!; 10kgm s 5/3ms!

16. 500 kg m s'; 800 kg m s'!; 50 N

18. 40 kgm s
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A2. 240N
A3. 2500 N
A4. 5m s? 2400 kg m s''; 6000 N

AT 10

3. 98N

12. Yl W 9WR 98 N 91 5Hl W 9R 16.3 NB|

13.  SIfishan S 122.5 m 991 el THI 10 s &l

14. 3" M =19.6m s |

15. 3Tfehal H9E = 80 m, ¥ ORI = 0, Fat 7 HT T T = 160 m |
16. TEERYU 9 = 3.56 x 102 N |

17. 4 sT¥9I, 9 ¥ 80 m |

18. RS MM =294 ms, H9% =44.1 m, 4 s TA 1% W T 4.9 m W W &°f a1 =9k |
39.2 mA W BAM

21. U gF SO
22. Tohe go Swm| foeenfia o 1 S=98M 350 g BN

A 11

NSl

2104J

NSl

9x108dJ
2000 J, 1000 J

QIFH
14. 15 kW h (‘gfe")

17. 208333.3J

,_.
o 0o kN

—

18. () YA
(if) EFTHS
(iii) SRUMHh
20. 20 kWh
3T 12
7. 17.2m, 0.0172 m
8. 18.55
9. 6000
13. 11.47s

14. 22600 Hz
20. 1450 m s!
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